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Explanations to select answers

3. (C) Option ‘D’ is incorrect as ‘is’ does not begin with a capital letter.
6. (D) The word ‘dash’ indicates an action ‘against’ something.
8. (C) is correct as it means ‘by the side of’. ‘D’ means ‘in addition to’ which cannot match the

implied sense.
14. (A) The word ‘some’ expresses the possibility of being more than one, hence ‘appear’.

Option ‘C’ ‘appears’ would have been correct if the word ‘one’ would have been used in
the place of ‘some’.

16. (D) is formal and hence appropriate.
17. (A) is correct as ‘bit’ itself means a small portion of something.
34. (D) is correct as ‘pane’ is the glass part fitted within a window-frame and so is a page to a

book.
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